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_ Student’s names . ‘ Student’s number: Teacher’s narme: ;

, | - . \ /
I Presbyte ’ ' : . <

. Sbylf/[ntahn La@es College, Sydney Section 1 (10 marks) Remove pages 5,6,7 and 8 and use Marks
athematics Department ’ this as your writing paper.
HSC Assessment Task 1, 2008 v
Instruction, Notification and Reporting Sheet ) a. A trapezium has vertices 4(0,0), B(2,3), C(7,4) and D(3,-2)
Course: Mathematics (2 unit) Sketch this information on the number plane.
Topics: Plane Geometry
Linear Functions i.  Showthat 4B is parallel to DC.
. Locus and the Patabola

Date: ) Friday November 16 (penod 4 ii.  Show that the equation of CD is 3x—2y-13=0.

Time allowed: 40 minutes _

Weighting: - 20% iii.  Show that the perpendicular distance betwéen the parallel

sides of the trapezium is «/E units.

¢

~ “The GUICOmes being assessed are printed overleaf

Inst;uc?oxzs(; calculas b ; ) b. i.  Show that the triangle with vertices

« Appfov culators may be used. ; e ‘s

- Bringa stapler and staples. A(2, 3) B (2,8) and C(5,7) is isosceles.

* Write your student number on every page you hand in. . . . .

«  All questions may be attempted. o ‘ ii.  Find the size of all the angles of the triangle.

» Starteach Sectmn on a new sheet of paper. l - . :

+ Al necessary working must be shown. Marks may not be awarded for careless or badly ’ iii.  Find the co-ordinates of D so that ]T"ACD is a rhombus,

drranged work. S— . )
«  The questions will be collected with your answers. e iv.  Find the area of the rhombus BACD.

- Marks awarded: Teacher’s comment:

Secfion / Mark '/I‘extbook references: |
' Topic: !
: ) /10 Plane Geometry
2 / /10 Linear Function
2 ,/ - /10 / Lacus and the
i " 5o | ' Parabola ;
. i i} | : | : End of Section 1
Student’s comment: i _——
. ) A "
This sheet will be re-printed as the front cover of the question booklet. oL Suinen e 1 ' .
PLC Sydney: Year 12 Mathematics 2008 Task 1 ) . ydney Year 12 Mathematics (2 Unit) Task 1 2008
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Section 2 (10 marks) Remove pages 9,10,11 and 12 and use

this as your writing paper.

a. The diagram below shows a regular pentagon ABCDE.

Two of the sides have been extended and meet at F.

i.  Find the value of x.
ii.  Find the value of y, giving reasons.

iii.  Find the size of £BDA, giving reasons.

b. ABCD is a trapezium, with AB parallel to CD.
The diagonals meet at E.

i.  Prove that A4BE is similar to ACDE, giving reasons.
. ii.  Give an expression for y, in terms of a, b and c.
iii.  Rachel says: “Triangle ADC and triangle BCD have the
same area, but they are not necessarily congruent, but they

might be congruent.”

Explain why Rachel is correct.

End of Section 2
D

PLC Sydney Year 12 Mathematics (2 Unit) Task 1 2008
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Section 3 (10 marks) Start a new sheet of writing paper.  Marks

a. Find the gradient of the tangent to the parabola x* =6y
at the point (1,%).

b. Consider the parabola with equation x* =8(y +1)

1. Find the coordinates of the vertex of the parabola
ii.  Find the focal length
iii. - Find the equation of the directrix of the parabola

c y
A(6,2)

%;x

7]

P(xy)

i.  Find an expression for the gradient of AP
in terms of x and y.
ii.  Hence, or otherwise, find the equation of the locus of all

points P such that OP is perpendicular to AP,
iii.  Hence, or otherwise, draw a graph of the locus of point P.

(There is no need to show x and y intercepts on your graph).

End of Assessment Task
3~
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Part a. Write your solution here and on the reverse side of this sheet®
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Section 13 |
Part b. Write your solution here and on the reverse side of this sheet. (’ (% 02)
\ (V) Area of rbombas BAC
\ ) -
- 3’- x &C x AD (produdst of d‘?oaa/_x -\-34)
- 4 D
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Section 2

‘Part a. Write your solution here and on the reverse side of this sheet.
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